.
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il ot A Chrenmy 2. Which purpose of the street artist is

and answer the questions (Q. Nos. 1 not right ?

to 4) choosing the correct alternative : (A) To earn name and fame and
Street art is a form of visual art created in money for himself

public spaces, using a variety of media (B) Tobeautify urban landscapes
such as spray paint, stencils, stickers, and (C) To create awareness about
yarn bombs. These artworks mainly environmental issues

appear in urban areas and public locations (D) To convey a social or political
such as exterior walls of buildings, highway message

overpasses, bridges, sidewalks, and

trains. Street artists do their work for a

reason. They not only transform cityscapes

into vibrant canvases and beautify urban

landscapes but also tend to convey a (

social or political message that provokes (C) Stencilling
(D) Stickering

awareness about pressin environmental :
, et A% Why did street art start out very
issues. Street art reflects the cultural

Which technique is notused for street
art?

(A) Spray painting

'(B) Finger painting

discussion and reaction and to create

» e secretly 7
heritage, values, and aspirations of local gy _ o
o :
communities. It often becomes o A Be;:ausint provs
' ; on
emblematic of neighbourhood identity, & st -
fostering a sense of pride and belonging (B) Be.causerh Odltd . isfigure
among residents. Street art started out very ”e'ghb°”_ ood identity
secretly because it was illegal to-paint (C) Because It hardly reﬂected the
cultural heritage of a site

public and private property without
permission. Of late, it has become a global
culture and even art museums and
galleries are collecting the work of street

'(D) Because it was illegal to
encroach public and private

property

Direction: Answer the questions Q.

artists.
1 Which statement s false with regard Nos. 5 to 10) choosing the correct
to streetart ? alternative : ;
(A) Itisform of visual art. 5. Which is the synonym of ‘Optimism’?
(B) Itis displayed in public spaces. (A) Cynicism
(B) Hopefulness

'(C) Itisfoundin both cities and village

.(C) Scepticism

areas. )
(D) Pessimism

(D) Artists do their work for a reason.

US - 2C/13 (2)
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6. Whnchlslhv.mlonw_\.11'h‘,..lm
(A) Terrble
(B) Jealous
(C) Safe
(D) Dangerous

7. A person who does not believe in
existence of God is called

(A) Philanthropist
(B) Misogynist
+(C) Atheist

(D) Theist

8. |askedthe boy

Which of the following clauses
correctly completes the sentence ?

(A) how old he was
(B) how old he will be
(C) howold was he
(D) howold he is

9. Shedivided the cake
five children.

Identify the carrect preposition.
(A) between

(B) in

(C) within

‘(D) among

her

10. Identify the correct sentence :

‘(A) He made such funny faces that |
could not but laughed.
(B) He made such funny faces that |
could notbutlaugh.
(C) He made such funny faces that |
could not butlaughing.

(D) He made such funny faces that |
could not but laughs.

US-2CH3

‘\!lj:" ?

11

12.

13.

S
ORD S
m »

3801

15.

(3)

‘(A) 206

"(€) Enforcement of the Constitution®

. Which of the following is not the org_

‘(D) Political parties

"(B) 60yrs

GET IT ON
Google Play

. Gases are good conductors of

electricity at

(A) High pressure
(B) Low pressure
(C)

(D) Hightemperature

Low temperature

The total number of bones in the
human body is

(B) 260
(C) 306
(D) 360
The main function of a Constituent
ssembly is :

raming the Constitution

(B) Amending the Constitution
(D) Interpretation of the Constitution

of aGovernment ?
(A) Executive ‘
(B) Judiciary
(C) Legislature
(D)

The retirement age of a j 44
Supreme Courtis:
(A) 65yrs

(C) 58yrs
(D) 55yrs


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET IT ON
AUUC mn Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

247

A, B, C and D are playing cargy
A& Cand B & D are partners. D g (o
the rightof C. The face of C is towa g
Vest, In which direction D s facing 7

esent, the ratio between the ages
run and Deepak is 4 : 3. After six
rs, Arun's age will be 26 years.
t is the age of Deepak at

£
J

B B

b

‘second Saturday and all .

ys are holidays in a 30 dam» .
a lhmng on Saturday, the i

king day% are there in gy

all dIgItSInthe f'
will remain

GET IT ON

Google Play

20, Arrange the following words in a
logical and meaningful order :

(1) Country f
(2) Furmniture ;
(3) Forest
(4) Wood
(5) . Trees

‘(A) 1,3,5,4,2

(B) 1,4,3,2,5
(C) 2,4,3,1,5
(D) 5,2,3,1,4
-30. Find the next t\'NO terms of the given
sefies..
2'S,W,0,T.K.Q,G 27
.(A) N,C |
" (B) N,D
(€) O,C
ay-e-o" .

en st Entsn aclass are frequently
. , _{mng group activities, the
er should -
A) Allow all student to socialize
rmg group work to keep them
;‘ able

‘ uce the number of group
ivities and focus more on direct

‘tasksasindividualm
stractions

: b roles and provide
tructm @'{ure
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39. Which of the following is responsible much sand should be put inside the

for implementing the Mid-day Meal box so that it may accelerate down at
Sch ;
u i rate of -g- ?

(A) AICTE

(B) UGC ) 2?"‘
*(C) MoE !

(D) ICSSR ® 7

40. One of the major disadvantages of e m

excessive use of technology in © 6
education is : 2m
(A) Enhanced critical thinking skills (D) g

'(B) Reduced accessibility for 43, A person going away from a fac
_students from low-income on his scooter at a speed 36km
backgrounds listens to the siren of the factory. If
main frequency of the siren is 600 F
and a wind is blowing along th:
direction of the scooter at 36kmh™

(C) Improved classroom
(D) Increased teacher-student

o))
interaction _ S the main frequency as heard by '
@ _ personis: "NEES
(A} 583 Hz |

-(B) 618 l Q&
: (C) E.l!.
| .gllergmxmﬂsnatural length. The

- work done hyihe spring on each 44, Mc
jrﬁfﬁ&m i ;
. | ].ra tranSp

1.8 x 107
_-refra ‘
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W With liquid of density p. The =~ - h
Pressure at the bottom center of the
bowl due to the liquid s : 48
A) pgR

R
]
3

.
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|.“}

of radius '

-,
et

‘ -) pOSitr;

'_;‘ movin,

ar wire

.

¥
8) 3 PR

3
i
()ngR

Speed v
" |

s
D) =
()spgR
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X {?B Acharge 'Q'is placed atthe centerof a
k- wbe.theﬂw(oftl'l_eelechicﬁeld through
- thesixsurfaces of the cube is :;ur

N/
¥

gh the

rm wire of resis
equal pa
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50, The two rails of a railway track,
insulated from each other and from
the ground, are connected to a
millivoltmeter. The vertical component
of Earth's magnetic field is 0.2 x 10~
* T and rails are separated by 1m,
the reading of the millvoltmeter when
the train travels on the track at 3
speed of 180 kmh ~ is ;

(A) 1.5mV
(B) 0.5mV
(C) 2mv
(D) 1mV
5$1. How many possible combinations of

quantum numbers are there forthe N
shell ?

(A) 8
(B) 10
(C) 18
. (D) 32

52. Among the ollowing i_!zél‘gmles,which
one has the highest dipole moment ?
(A) CH,CI
(B) CH,Cl,
(C) CHCI,

- (D) cCl,
hich of the following species has
paired electron(s) ?

54.

55.

56.

ik
RE'. ‘e
B

GET IT ON
A Google Play =

Which of the following is a hard acid 7
(A) Li*

(B) Cu*

(C) Ag*

(D) Au’

Bohr's model can explain :
(A) Spectrum of hydrogen atom only

(B) Spectrum of atom or ion
containing one electron only

(C) Spectrum of hydrogen molecule

(D) Solarspectrum

The HOMO of COis :
(A) o-bonding

(B) IM-bonding

(C) o-antibonding
(D) IT-antibonding

In'the reaction : "

0 4P +3KOH + 3H,0 — 3KH,PO, + PH,

380

58.

(A) Phosphorous is oxidized only
(B) Phosphorous is reduced only

(C) Phosphorous is both oxidized and
reduced

(D) Phosphorous is neither oxidized
nor reduced

Inwhich of the following C-H bond, the

hnhests;@gcteris!famd ?

4)
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' betwee
§9. Perchloric acid has : 63. G, ph P
(A) 8 lone pairs, 4 o bonds, and
3 = bonds *(A) M-pl
(B) 9 lone pairs, 6 o bonds, and (B) WeE
no 1 bonds (G
D) G
(C) 11 lone pairs, 5 o bonds, and o - bomi.
no n bonds . Which- |

(D) 13 lone pairs, 4 o borids, and
1 n bonds

_ M_ﬁ\e energies of two photons are in

~ theratioof 3:2, their wavelengths wil

N bein the ratio of : : ss/thall
E % (A) 9:4 )

' @) 2:3 ‘

E) 12

(D) 3:2

&

61. Prokaryotic' c

(0) Chlrop



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

_Addai247

e

68 Which one is not a resemblance

69.

70.

between

Prendophytes ?

(A) Multicellular jacketed sex organs

(B) Water js mostly a necessity for the
process of fertilization

(C) Heteromorphic type of alteration
of generations

Bryophytes and

(D) Gametophyte is the dominant
independent generation

Which is not a renewable energy
source ?

- (A) Fossil fuel

(B) Water b
<
(C) Tide o
(o8]

(D) Sunlight

GET IT ON
Google Play

(C) Photosynthetically assured
radiation

(D) Photosynthetically absorbed
radiation

72. The consumers that feed on the
herbivores are called :

\A) Primary consumers
(B) Primary carnivores
(C) Primary herbivores

(D) Primary decomposers

73. Combustion of fossil fuels. mining and
industries are the main sources of :

(A) Water pollution
@(B) Air pollution
(C) Soil pollution
(D) Noise pollution

The most significant contributor to

_%3{3 74.
Regarding biological resource, (Al water pollution due to human

number of species per unit area is
called species ;

(A) Diversity

(B) Evenness

(C) Equitability

interference is :

(A) Industry

-(B) Agriculture

(C) Cultural activities
(D) Horticukture

. The maintenance processes of living
organisms go on evqr#ime. and
together they are called :

(A) Repair process
(B) Life process
(C) Renovation process

(D) Rejuvenation pm.i’

(o)

AW
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76.

The compounds that are utilised for
providing energy to the plants are :
{A) Amino acids

(B) Fat

(C) Carbohydrates

(D) Proteins

The substance thai is secreted by
gastric glands and protects the inner
Iinin.g of the stomach from the action
of the Hydrochloric acid under normal
conditions is :

| (A) Pepsin

78.

(B) Rennin
(C) Gastrin
(D) Mucus

In yeasts, thg pyruvate is convertedg R
(OFC l

erobic

*

83. Ontheset{1 2,3, 4}, mmqrme

GET IT ON

Google Play

e
80. During day time, when the stomata are

open, the major driving force in the
movement of water in the xylemis
(A) Transpiration pull

(B) GravitationaliEUl_l

(C) Diffusion pressureé

(D) Osmotic preséure

81. The decimal equivalent of the binary

number 11001 i$ ——-

"82. Forthe sets A={5n :n eN },

B={7n:ne N }andC={35n:ne N},

~ which one of the following options is

e

B AUB)NC=¢
(C) (A-B)uC=4¢

(D) (AnB)-C=¢
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84

85.

86.

Which of the following relations on |
15 not a function ?

) {U-Y)-Y::\}
W (xy:y=Ja-x2 |x>2)

() {(x,y): X2 + yz =1)

+(A) Only (it)

(B) Only (i) and (ii)

(C) Only (i) and (iii)

(D) Only (ii) and (iii)

Which of the following pairs of linear
equations is inconsistent ?

(A) x-2y=6,2x+3y=4

(B) 9x~8y=17, 18x— 16y = 34

(C) Sx—-3y=11,7x+2y=13
-(D) 2x+3y=7,4x+6y=5

Choose the correct answer from the

following optionsdor the Assertion (A)
followed by the Reason(R).

Assertion (A) : The aumber of
common solution(s) for the system of
linear equations : _
S5x+4y+6=0and 10x+8y-12=0
is zero.

Reason (R) : The system of linear
equations : a;x + byy + ¢4 = 0 and
'azx + by + ¢, = 0 has a unique

« (A) Both (A), (R) are correct and (R)

_is the correct explanation for (A).

87.

89.

(13)

GET IT ON
Google Play

(B) Both (A), (R) are correct, but (R)
is not the correct explanation for
(A).

(C) (A)is correct, but (R) is incorrect.

(D) (A)is incorrect, but (R) is correct.

What is the remainder when the
polynomial x "% + x™ + 1 is divided by
X417

(A) 3

(B) 2

(C) 1

(D) 0

. Hardik and Shivang attempted to solve

the same quadratic equation. Hardik
made a mistake in writing down the
canstant term and ended up in getting
the roots 4, 3, respectively. Shivang
made a mistake in writing down the
coefficient of x and got the root 3, 2,
respectively. The correct roots of the
equation are

< (A) 1,6

(B) 3,4
(C) -4,3
(D) -6, -1

i
Whatis the value of (0.000001)* ?
(A) 0.00001

(B) 0.0001 T
(C) 0.001 o
(D) 0.01
(Tum over)
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80 NMIWM&&CIM (C) 3
D in such a way that the shares of A (D) 4
and B, B and C, C and D are in the

83. 1flag,o(2) = 0.3010, then what is the

ratios of 2 : 3, 4 : Sand 6 : 7, numbgrofd[glhriﬂ’“?
L.
respectively, then what is the share (A) 18 a4
.
ol (8) 20 b
{A) Rs. 1280 (C) 22
(B) Rs. 1320 (D) 24
(C) Rs. 1380 94. Which of the following assertions
(D) Rs. 1420 is /are true ?
Sl b (i) sin?(29) +sin(4°) + sin’(6°)
- ITXvanes inverselyasy“~1andx=6 L + AR ~ ° e
wheny =3, then what is the value of x, %}ﬁ sin?(90% = 23
Wheny =57 B ? (i) cos(20) > [ sin(0) |
155 \ 2 6 |
A) 510 _/ M ' :
& . T ,
AN E un, RERT A
e i . e ] oy e
® 51 » @Y Only(i)— con e = O
! (C) Both (i) and (‘ii) ,
! 512 149 (D) Neither (Jnor i) -
158 b 95. Forx R, which one of the fol
©) 553 MR

. (‘7}1‘
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96. Ina AABC, if £C = 60° then what is

the value of COSA, g ol 7
e (6_‘;?)
2
‘ N
(A 3 o
(8) 2 e
©) 3 .

. (D) 1

97. The angle of elevation of the top of a
tower is 30°. If the height of the tower

(C) 20 meters
(D) 15@ meters

99. Three or more lines which pass

throUgh the same point are called

as

(A) Intersecting lines
(B) Collinear linés
(C) Concurrentlines

(D) Parallel lines

is doubled, then the angle of elevatiorg.ﬁg 100, Which one of the following statéments

of its top will be

(A) Equalto 30°

. (B) Equalto60°
(C) Lessthan 60°
(D) Greaterthan 60°

98. If the shadow of a tower standing on
the level ground is found to be
40 meters longer. when the Sun's
altitude is 30° than when it was 60°,
then what is the height of the tower ?

. (A) 403 meters o

~ (B) 203 meters
Eai

SN

38019

isincorrect ?

(A) A rectangle circumscribing a
Circle is a square.

(B) Aright angled triangle can always
be inscribed in a circle, if the
hypotenuse of the triangle is the
diameter of the circle.

(C) The centroid of an equilateral
triangle inscribed in a circle
coincides with the center of the

circle.
LY
-(D) All of the above N
ol 8 A
il " Sl 4 i
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